E27EIH =B EE Y vH—K= (BR)

)—J 8
@7 Ay |=BHASC-A| KKFSC | HiESC #iiEFC s B/ERE BE=R B3z
BHASC-A 4-1 5-0 3-1 9 10 12 1
KAFSC 1-4 0-2 3-1 3 -3 4 3
HIESC 0-5 2-0 0-2 3 -5 2 4
#EFC 1-3 1-3 2-0 3 -2 4 2
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FEHASSC 0-8 1-4 2-2 1 -11 3 4
7yrvAsc|l 8-0 4-0 3-0 9 15 15 1
fEHSC 4-1 0-4 2-3 3 -2 6 3
mHAsSC-B| 2-2 0-3 3-2 4 -2 5 2
IIE fiz 3R 5E B
SAREH | AKFsCc | 8 — 1 YE#SC TR E R FRIESC 8 — 0 | mWfakssc
R BEHASC-Al 3 — 1 |7UrvASC| SLREH | #mEFC 2 — 0 |=%HAKsScB
RRER
& =EEAKSC-A
#BH TJ7UASC
B34 HFEFC
BEHE KKFSC BRI SC




